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Yo GemOerwuitH THMIIDDH
fAByVnax tyxya#

TYIAAX Hb:

Hor. YemocH:T nx Casp Haamam- ApIoHH XyBbc¥anHH 80 munuitn
o, MoHTOnHH TaMupYrmHH 0agp, AxManHH Cafiryynnapsd 70 xunnid
oftH HPpoMKUT Xen OeMmCOeruftH T3Muz>HUIT 2001 OHH 7-p CapHH 2-6-HH
enpyYYIsn I5-p XopoononHH Tanlaiinm aByyncyraf.

Xoép. ToumrssHuit marHann sopuynald 579000 Teérperuiir CIOpPTHH
apra X5MED5HUE 3aprnaac TapraxHr HA-00 X.IsmsHEOoIHOM-I
30BIE6PCYTHT,

T'ypaB. ToMa5HEA TecBUAT HOTIYTS5pP, MYYDdRufiH Oypsnmsx-
YYHEfT XOEpmyraap xaBcpajnraap Tyc Tvc daTancyra®.

JlepeB., TOMIBBHIAT Y237 CypTan 30XUOH Oai"yynanTHH ©HIOp
XDII9BHN ABYYNAXHT' M3DPToxuaTsH C.IYpsBropxun yY¥psr doprocyraii.
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,mgf ' &TOOT TYmasnHE HOTIYTD5D

Har. Torarpspus
a/ TourpunrdHH marHan
I-p Ga'p I5 x I0000 Ter = IB0000 Ter

2-p fa®p I5 x ©S000 Ter = I44000 Ter
3-p 6ai’p I7 x 8000 Ter = I28000 Ter

Iy H= 432000 Ter

6/ TMyyram:'n rmaTHARN
I2 = 5 x 2000 mer = I20000 Ter

B/ Tend T xenme 27000 Ter

Hafir nyH = §79000 Ter
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CaHIarmopx
Yol nnmopx
opIoHslarT
BaTienx
Taudonxm
Apuyndonn
Omxyy
BaT-3pmsHs
BaTrTeuep
3opur
9pmaHs-09np
Baronrn

551-@' SRS A TR TN

1r@A&

§r~c

"h)qrf \ 1T,

ync
ync
yne
yne
yne
yac
- yne
yne
yne
yic
yne
ync

-

W . ;
T HYYTUNIiH GYponIsXYYH

e/myyrg

5/6

myyr<

"

"

"

e

n"

"

"_

"

MXBX
[BTX
3L
CXI
CXI
CBI
Ban
n
CXI

(Bl

? 70

>

TaNID- CTOPTHH XOPOOHH IapIHH

g)) \U “
oar Th char JaprHHE TBpIameX
0§~ﬂ” 36 TOOT TYmEANHE XOEpIyTraap




